18

18k

18
18
10

s,

2004-11-16, 100k, pads 1-32, CFD 1->ADC 1

Jvalues_pad32 (c-3488x<4088y>37.088y<37.2)

1000QL50@0@B»0B0O0mB5004

842,
294,
2184t

18

10

Jvalues_pads1 (-408ex<a6a8y>37 088y<37.2)

N
s
NS

RMS
Integral

100250@00@50@B00BZIWO

16

10

jalles_pad16 (-4688x<5288y>37.088y<37.2)

1000aL50800@500B00@B50H

So=35

1000QL50@00@50000038000

Jvalues_pad28 (x>3488x<d068y>24.488y<24.6)

Jvalues_pad26 (-3488x<4088y>18 188y<18.3)

Jvalues_pad24 (>3488x<4088y>11888y<12.0}

Jvalues_pad3o (x>3488x<4088y>30.788y<30.9) Entries
Mean

RMS
Integral

Integral 1.042e+0ft

821
206.

niries
Mean

RMS
Integral

000

6 s Jvalues_pad2e (xo4088x<4688y>30.788y<30.9)

18
10
1

ENtres 1000

Mean 826
RMS 160.8
Integral 836[L
-
-

Jvalues_pad27 (x-4088x<4688y>24 488y<24.6)

Jvalues_padzs (-408ex<a6asy>18.188y<18.3)

Jvalues_pad23 (-408ax<d6agy>11.888y<12.0)

L values_pad21 (x>4088x<468&Y>5 588y <5.T)

vallies_pad19 {x>4088x<4688y>-0.888y<-0.6}

823
135,
Integral 1.018e+0f

owo

TS

18
18

10

18
18

10

hits fvalues_pad14 (x>4688x<5288y>30.788y<30.9} Entries

1 Mean
RMS
Integral

-

E 1

alues_padi12 (-4688x<5288y>24.488y<24.6)

128.

795,

865p

[N

s falues_pad10 (c-468x<5288y>18.188y<18.3)
B

18

Values_pads {>4688x<5288y>11 88y <12.0}

. values_pads (x>4688X<5288y>5 588y <5.7)}

hi_values_padd (x-4688x<5288y>-0 888y<-0.6)

Values_pad? (>4688x<5288y>-7.188y<-6.9)

" |

o
8414
181.

853

7 BRI T |

000

RMS

16 L Integral

Jhis_values_pad13 {x>5288y>30.788y<30.9) Entres 1000
Mean 84

Jits_values_pad11 {x>5268y>24.488y<24.6}

16k

Integral

819
150,

237]

10f 3

[N
d

niries

hits_values_pado (>5282y>18 188y<18.3)

Integral

16k

00

847
159,
241

hits_values_pad? {x>5288y>11.888y<12.0)

18

Integral

10

16L

Integral

226,
227]

=TT

10f E

1F -

hits_values_pad3 {x>528&&y>-0.8&8y}-§ 5

hits_values_pad1 {x>528&y>-7.188yf-§ B

Integral

100aL50@00@500300CB80

0



